

2019 Washington Street, East Charleston, WV 25305 Telephone: 304-558-2306 General Fax: 304-558-6026

Bid Fax: 304-558-3970

The following documentation is an electronically-submitted vendor response to an advertised solicitation from the *West Virginia Purchasing Bulletin* within the Vendor Self-Service portal at *wvOASIS.gov*. As part of the State of West Virginia's procurement process, and to maintain the transparency of the bid-opening process, this documentation submitted online is publicly posted by the West Virginia Purchasing Division at *WVPurchasing.gov* with any other vendor responses to this solicitation submitted to the Purchasing Division in hard copy format.





## State of West Virginia Solicitation Response

Proc Folder: 1128214

Solicitation Description: Addendum No. 1 Culture Center: Networking Equipment

Proc Type: Central Purchase Order

 Solicitation Closes
 Solicitation Response
 Version

 2022-11-29 13:30
 SR 0432 ESR11172200000002420
 1

**VENDOR** 

000000210569

ALPHA TECHNOLOGIES INC

Solicitation Number: CRFQ 0432 DCH2300000002

**Total Bid:** 65707 **Response Date:** 2022-11-17 **Response Time:** 12:04:33

Comments:

FOR INFORMATION CONTACT THE BUYER

Toby L Welch (304) 558-8802 toby.l.welch@wv.gov

Vendor Signature X FEIN# DATE

All offers subject to all terms and conditions contained in this solicitation

Date Printed: Nov 29, 2022 Page: 1 FORM ID: WV-PRC-SR-001 2020/05

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
1	Network Switches				65707.00

Comm Code	Manufacturer	Specification	Model #	
43222612				

#### **Commodity Line Comments:**

#### **Extended Description:**

Vendor must enter a price on each line of Exhibit A pricing page and return the pricing page with their bid. Vendors should enter the grand total amount into the contract amount on the commodity line. the total cost must be a lump sum amount including all incidentals including freight charges.

Date Printed: Nov 29, 2022 Page: 2 FORM ID: WV-PRC-SR-001 2020/05



Department of Administration **Purchasing Division** 2019 Washington Street East Post Office Box 50130 Charleston, WV 25305-0130

#### State of West Virginia **Centralized Request for Quote** Info Technology

			A CONTRACTOR OF THE CONTRACTOR
Proc Folder:	1128214		Reason for Modification:
Doc Description	: Culture Center: Networking	g Equipment	
Proc Type:	Central Purchase Order		
Date Issued	Solicitation Closes	Solicitation No	Version
2022-10-31	2022-11-22 13:30	CRFQ 0432 DCH2300000002	1

BID	RECEIV	VING I	OCA'	TION

**BID CLERK** 

DEPARTMENT OF ADMINISTRATION

PURCHASING DIVISION

2019 WASHINGTON ST E

CHARLESTON

WV 25305

US

		-	-	-
~	N		$\mathbf{a}$	0
VE	w		•	

Vendor Customer Code: 210569

Vendor Name : Alpha

Address:

Street: 4003 Outlook Dr.

City: Hurricane

Country: USA State: (W)

Principal Contact: James Solumnit

Vendor Contact Phone: 304-721-8987 Extension:

FOR INFORMATION CONTACT THE BUYER

Toby L Welch (304) 558-8802 toby.l.welch@wv.gov

Vendor Signature X

FEIN# 550

Zip: 25526

All offers subject to all terms and conditions contained in this solicitation

#### **ADDITIONAL INFORMATION**

The West Virginia Purchasing Division is soliciting bids on behalf of the West Virginia Department of Arts, Culture and History to establish a Purchase Order for a one-time purchase of networking equipment and associated hardware and software, and support per the attached documents.

INVOICE TO		SHIP TO		
DIVISION OF CULTURE HISTORY	&	DIVISION OF CULTURE & HISTORY		
CULTURAL CENTER		CULTURAL CENTER		
1900 KANAWHA BLVD E		1900 KANAWHA BLVD E		
CHARLESTON	WV	CHARLESTON WV		
US		US		

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
1	Network Switches	Lot	\$6570700	1\$65	70700
			03101.	1400,	101.

Comm Code	Manufacturer	Specification	Model #	
43222612			· ·	

#### **Extended Description:**

Vendor must enter a price on each line of Exhibit A pricing page and return the pricing page with their bid. Vendors should enter the grand total amount into the contract amount on the commodity line, the total cost must be a lump sum amount including all incidentals including freight charges.

# SCHEDULE OF EVENTS Line Event Date 1 Questions are due by 4:00 p.m. 2022-11-15

	Document Phase	Document Description	Page 3
DCH2300000002		Culture Center: Networking Equipment	

### ADDITIONAL TERMS AND CONDITIONS

See attached document(s) for additional Terms and Conditions

			HIBIT A - PRICING PA	AGE				
Specification Reference	Contract Item Number	Description	Part Number or Equal	Alternate Part # and Description of or equal Products	Quantity	Unit of Measure	Unit Price	Extended Price
3.1.1		Extreme Networks® ExtremeSwitching 5320 Universal Switch (5320-48P-8XE), or Equal			10	ea	\$3,363.00	\$33,630.00
3.1.2	#2	Extreme Networks® ExtremeSwitching 5320 Universal Switch (5320-16P-4XE), or Equal			3	ea	\$1,821.00	\$5,463.00
3.1.3	#3	Extreme Networks® ExtremeSwitching 5320 Universal Switch (5320-24P- 8XE), or Equal		,	5	ea	\$1,999.00	\$9,995.00
3.1.4	#4	Extreme Networks® ExtremeCloud IQ (AP 305C-FCC), or Equal			29	ea	\$279.00	\$8,091.00
3.1.5		Extreme Networks® Advanced Hardware Support (97000-AP305C-FCC), or Equal			29	ea	\$94.00	\$2,726.00
3.1.6	#6	Extreme Networks® ExtremeCloud IQ Support and Management Subscription for Access Points (XIQ-PIL-S-C-EW), or Equal			29	ea	\$24.00	\$696.00
3.1.7		Extreme Networks® Advanced Hardware Support (97004-5320-48P-8XE), or Equal			10	ea	\$373.00	\$3,730.00
3.1.8		Extreme Networks® Advanced Hardware Support (97004-5320-16P-4XE), or Equal			3	ea	\$92.00	\$276.00
3.1.9		Extreme Networks® Advanced Hardware Support (97004-5320-24P-8XE), or Equal			5	ea	\$220.00	\$1,100.00

Vendors should complete the	contract coordinator Information below:	
VENDOR NAME:	Alpha Technologies	
CONTRACT MANAGER:	James Stewart	
PHONE:	304-721-8987	
FAX:	304-201-2610	
EMAIL:	jstewart@alpha-tech.us	

AUTHORIZED REPRESENTATIVE: James Stewart

11.17.2022

ames Stewart
(Signature)/(Date)

TOTAL:

\$65,707.00

**DESIGNATED CONTACT:** Vendor appoints the individual identified in this Section as the Contract Administrator and the initial point of contact for matters relating to this Contract.

James Stewart
(Name, Title)
James Stewart, TSE/ISE
(Printed Name and Title) 4003 Outlook Drive Hurricane, WV 25526
(Address) Phone:304-721-8987 Fax: 304-201-2610
(Phone Number) / (Fax Number) istewart@alpha-tech.us
(email address)

CERTIFICATION AND SIGNATURE: By signing below, or submitting documentation through wvOASIS, I certify that: I have reviewed this Solicitation in its entirety; that I understand the requirements, terms and conditions, and other information contained herein; that this bid, offer or proposal constitutes an offer to the State that cannot be unilaterally withdrawn; that the product or service proposed meets the mandatory requirements contained in the Solicitation for that product or service, unless otherwise stated herein; that the Vendor accepts the terms and conditions contained in the Solicitation, unless otherwise stated herein; that I am submitting this bid, offer or proposal for review and consideration; that I am authorized by the vendor to execute and submit this bid, offer, or proposal, or any documents related thereto on vendor's behalf; that I am authorized to bind the vendor in a contractual relationship; and that to the best of my knowledge, the vendor has properly registered with any State agency that may require registration.

By signing below, I further certify that I understand this Contract is subject to the provisions of West Virginia Code § 5A-3-62, which automatically voids certain contract clauses that violate State law.

Alpha Technologies
(Company)
James Stewart
Authorized Signature) (Representative Name, Title)
James Stewart, TSE/ISE
(Printed Name and Title of Authorized Representative)
11.17.2022
(Date)
Phone:304-721-8987 Fax: 304-201-2610
(Phone Number) (Fax Number)